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= 87,665 58,234 29,431
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= 17,375 12,500
Al 17,375 12,500
60,000 60,000
KNS S5 AL ENHS AL = %0000 %0000
< 15,000 15,000
Al 15,000 15,000
40,300 40,900
001 LBt ot| = 20,150 20,450
= 10,075 10,225
Al 10,075 10,225
01 Attt 40,300 40,900
OXNHEs HUHMEHINE ALY 2SI 40,300,000 40,300 40,900
= 20,150 20,450
== 10,075 10,225
Al 10,075 10,225
600 0
405 Ab&HFSHI = 0 0
& 150 0
Al 150 0
01 T ESFSHI 600 0
ONME=ZEIIDI 600,000 600 0
= 300 0
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Al 150 0 150
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35,100 47,100 A 12,000
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Al 17,550 23,550 £6,000
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FHAHE MO LH ALAHAIHERE = 136 210
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= 2,250 1,875 375
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Al 1,134 1,131 3
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509,816 487,110 22,706

= 360 340 20
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116,746 94,080 22,666
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p 58,372 47,040 11,332

= 29, 187 23,520 5,667
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